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Unit 5 Review

Locate the center of symmetry of equilateral triangle HET. Label it as point Y.
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True or False. Each symmetry line of a regular 2. J(We’
octagon is the perpendicular bisector of a side of
the octagon.
The figure BASE at the right is a rhombus. If
ms1 = 63, find B
0
a. m<3. A 3a. ZT
b, me2. ‘> b, 40°
E
S .
From the information in the drawing below, what 4. F—CU)‘ ‘0‘ {'C\’Gl\
type of triangle is pictured? Be as specific as possible. ng Om%\ ¢,

(recb\)\ovr)

Quadrilateral LEAP at the right is a kite, which ends

E and P. 450
p > AE
a. If the length of _Lis 20, which 1 5a.
other segment Eas length 207

o
b. Find m<ELP. .\ 23 b. IZL\

O
C. Find m£EPA. W C. 115

110



6. a. In the space at the right, draw a guadrilateral

in which one pair of sides are parallel and
the other pair of sides are congruent. LABEL!

b. What is the name of the quadrilateral that you

drew in part (a)? Be as specific as possible.

7. Draw the hierarchy relating the following: rectangle, s

-

. 1508¢. Trapezoid

re, polygon,
parallelogram, and quadgilateral. LA ‘yb

Quad
|

Sq/uo\m -~

8. True or False. Every rectangle is a square.

A
Refer to the quadrilateral MATH at the right. S To.
Find mAMR, 82

9.

Wall Y
R M H

10.  Find the(s;un@of the measure of the angles in a 10.
p

convex agon.

5 (5-2)-180

11.  The measures of the angles of triangle are in the

11.
extended ratio 3:5;10. Find the measure of the

largest angle. Zx 5% +10x = 18D

ltx - 180
¢ \¢

(=103

i

f




n
12.  Quadrilateral KITE at the right is a kite with ends 12. KE = K \

Kand T. Name three distinct pairs of congruent N
segments. K ‘T — ET
~n
¥ IX = XE
I
13.  In HEXAGO below, find ¢ and mG. 3. (= %3

o+ {40+ Y+t Sc+ S+T1c-1a] /G= M2
57 4+e = 120
- 362 -352
loc = %6¢
e 1%
C= 273 )
14. Find the@of the measures of the angles 14, ZleO

ina .convex 14-gon. UL\ ‘Z) | 80

15.  Multiple Choice. Aregular n-gon has symmetry 15. B
lines that are both angle bisectors and perpendicular
bisectors of sides. Then nis:

A. even C. neither odd nor even

odd

16.  Quadrilateral MIND at the right is a rhombus.
a. If Ml =7, what is MD? 16a. 7
I b. mi3 = 2% °

meMNI = (plp”

b. If me2 = 66, find m£3 and meMNL M




17.

18.

19.

20.

: (b1.5°
In the figure below, m and n are symmetry lines of m 17. :
regular octagon PRODUCTS. Find m£0ODS.

(1-2)-190 = 1080 _

125
€
o C o
Figure SOME below is a trlas?)ezoid with bases SO 18. mLE= 17
and EM. If m£O =103, find m£E and m<S. o
s 0 mes = |05
(02
~ 1
E ! M

Use parallelogram ABCD at the right.

a. if MB = 19 & AB = 10, find as many other
lengths as you can.

pc=10
=19

b. If mLDAC = 52 and m£LBDC = 22, find as
many other angles measures as you can.

LBCA=52
LABD =12

Todd County in South Dakota has the approximate shape of a rectangle. lis
northern border is about 40 miles long.

a. What is the length of its southern border?

% 40 miles
b. What property of parallelograms did you use in part a?

Opposife Stus QxR cnn%wem—



21.  Woodruff Park in Atlanta, Georgia is bounded by four streets pictured below.
Auburn is parallel to Edgewood and Peachtree is parallel to Prior. Peachtree
meets Edgewood at angle of 64 degrees.

a. At what angle does Auburn meet Prior?

H°

b. What property of parallelograms did

you use in part a?

Auburn Ave.

nr

S

<
é"/ - Woodruff o5’
k) Park &
Eal'a!

Edgewoad Ave.

g

Dpposiie anqus Qre ngwent

In 22-25, use the diagrams. Are the markings a sufficient condition for the
quadrilateral to be a parallelogram? If your answer is yes, provide the sufficient

condition.
22, a8 5
n
No, n.C-1.
24, 1 '
t “
No, pd.t
26. Find m.1. 22°
1
56° R

a
“or22.=

28. Find mZ3 & mZ4.

_180
300 - 102 “L1-90 =107

—-—'-""_-__—

>

23. 1 ” )
Yes, opp. SldeS are =
25. P
] L

4

es, opp. Sidss both /& =

27. Find m£2.
149A

Q0 + L2 = |44

12 <57

29. Find x and mZACB.

A

{Bx-3°
Af\ Asxs 19
B c b

151
~3=(p x t14
-Zé 1»2 ,((f,( t3 10 -15¢

1Xx+ 5% =3 = px+14 r(p'ZZ*-H



